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General Instructions :
(i) The question paper has 30 questions in all. All questions are
compulsory.

(ii) Marks for each question are indicated against the question.

(iii)  Questions from serial number 1 to 9 are Multiple Choice Questions.

Each question carries 1 mark.

(iv)  Questions from serial number 10 to 21 are 3 marks questions. Answers

of these questions should not exceed 80 words each.

v) Questions from serial number 22 to 29 are 5 marks questions. Answers

of these questions should not exceed 120 words each.

(vi)  Question number 30 is a map question of 5 marks (2 marks from

History and 3 marks from Geography).

(vii)  Attach the filled up map inside your answer-book.
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()  “form s frem’ 9 % ferw
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Which among the following was the main reason for the weavers to revolt

against contractors in Silesia, in 1845 ?
(A)  Contractors reduced their payments drastically
(B)  They stopped the supply of raw materials to them
(C)  They refused to place orders for finished textiles
(D) Condition of weavers was very pitiable

Or

Which among the following was the main reason to start the ‘Tonkin Free

School’ in Vietnam ?

(A) To provide ‘Western Style Education’
(B) To provide ‘Modern Education’

(C) To provide ‘Science Education’

(D) To popularise the ‘French Language’
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F=fcfaq T 4 @ 9Ra d 998 Ugd HeTedn el 3 gemR R e W

srrfeTa feram o ?
(A) <=t

(B) 3gHSIETG
(C) wer

(D) =HWRA

In which one of the following places Mahatma Gandhi organised

Satyagraha for the first time in India ?

(A)
(B)
(®)
(D)

Dandi
Ahmedabad
Kheda

Champaran

AT Srenfreht 3 o foe foeeft gen s o a fefafea 9 @ oF @1 g

KGR

(A) v Tt getfehed fafies

(B) 3 v fufiee

(C) T et o1t sfugan fafies
(D) =FIu™ SfeRaT STErETceRoT

Which one of the following has been the major source of foreign exchange

for LT. industry ?

(A)
(B)
(®)
(D)

Bharat Heavy Electricals Limited
Oil India Limited
Steel Authority of India Limited

Business Process Outsourcing
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Which one of the following statements is correct regarding ‘sectional

interest groups’ ?
(A) They promote collective rather than selective good.

(B) Their principal concern is betterment and well being of their

members, not society in general.
(C)  They aim to help groups other than their own members.

(D) They do not seek to promote the interest of a particular section or

group of society.

5. & HIIAl 9T ASHITOE 3 ol gH1d TR §R1 HefTiad giaensti 8 § &

ot gfaren yem A S 7 1
(A) U T IM (B) g1 o foTu gy
() =g (D)  ESU-UH

Which one of the following facilities is offered by the ‘Election

Commission’ to a recognised political party ?
(A) Party name (B)  Election funds

(C)  Election symbol (D) Manifesto
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IRt ke <k aftonmy s feferfiad | @ i 91 U IS R 7
(A) @ ifaE S T FH R et et =

(B)  feler forshr i wiafal # et

(C)  Tfeeh TN %! A i H GaATIH

(D) AT g g T SR o foTt GerH

Which one of the following is an example of outcomes of a democracy that

produces an accountable Government ?

(A)  Open to public debates on major policies and legislation
(B)  Open in promoting economic development

(C)  Open in reducing economic inequalities

(D)  Open to rulers elected by the people

fraferfaa & @ 1 @1 =01 o5 =i @A R 7

(A) = (B) weshi wfHfaat
(C) HEHR (D) Tz o gwaweft
Which one of the following is a formal source of credit ?

(A) Traders (B)  Cooperative societies

(C)  Money-lenders (D)  Friends and relatives



8. fr=fefea & @ gweles wonur 1wt sif A TR 7 1
(A) IT el § IUR A TS FA IR &
(B) fimll & 39w ot 718 gy
(C)  IT Foiar oh U ¥l 7, TEeht ITART 98 IWETAT &l TR & % &9
DGk
(D) R Y fHewr it 78 emat
Which one of the following is the appropriate meaning of collateral ?
(A) Itis the sum total of money borrowed from banks
(B)  The amount borrowed from friends
(C) Itis an asset of the borrower used as guarantee to a lender

(D) The amount invested in a business

9. fim=fafaa ° 9 =19 a1 ge foesft s oK foesft faer o e | o

Tare? 1
(A) IR R
(B)  SAaUTId 9 T

(C) faea e w134

(D) Tova =R "ea

Which one of the following organisations lays stress on liberalisation of
foreign trade and foreign investment ?

(A) International Monetary Fund

(B) International Labour Organisation

(C)  World Health Organisation

(D) World Trade Organisation
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10. Joifera g fafsa &= 5 sl a3 weE smea & gfd forg TR
yferferan sk il ? Tom N | 3

HAYAT

1926 § foudam & W4 Afea o8 Ta § Th a1 A& Hi 38 @Il
B3 7 T8 HINT |

How did the local people in the areas conquered by the Napoleon react to

French rule ? Explain.
Or

Why did a major protest erupt in 1926 in the Saigon Native Girls School in

Vietnam ? Explain.

11, TeEfiSH 3 STTER FcmE o fo=m i = i | 3

Explain the idea of Satyagraha according to Gandhiji.

12,  Ugartei W ks e o fore fafesr wwmem g 33w e fobedi i qumert
3T T U HIRTT | 3x1=3

Describe any three suppressive measures taken by the British

administration to clampdown on nationalists.

13. ol forameraral o foTu Seit i STrawereh 8 7 Sl ohl 3cdTed fohd Jehr fomam S
GehdT ® 7 W8 HifNT | 1+2=3

Why is energy required for all activities ? How can energy be generated?

Explain.
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14. 3% e forermd H aiEe STR HeR o WTeH R YRR Wecaul S[fHeRT 3T
A 2 7 T HIT | 3

How do means of transport and communication play an important role in

the economic development of the country ? Explain.

15.  ‘wiawiE Fefee wee @ gedr 7 | ol 9 et i e hifse i
afeufty frefieor it Usharmd # UEre 81 ¥ohd 2 | 3x1=3

‘Environmental degradation has been seen everywhere.” Explain any three

values that can help to prevent environment degradation.

16.  TH TSHITceh i shl STTITIehdl 941 Bl & ¢ TI8 hIfSTT | 3

Why do we need political parties ? Explain.

17. rehad shl SEdl & SHEEN! o fohe TR TG qeal-dl § ¢ SITcTfodT o 9T
o FSTTeRtoT o e SATRTEH o1 3ATEL0T od §Y, T8 ShifST | 3

How are popular struggles integral to the working democracy ? Explain

with an example of Bolivia’s struggle against privatisation of water.

18. Alehdiieh TR fore TehR fSFieR SR & &9 § ST Sid) @ ? 3erewor afed
Tee ShIfeg | 3

How is democratic government known as responsive government ? Explain

with an example.
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19. U1 foRE YRR STaweRarsti % drel TN I THE Rl T Bl & 7 IR0
Tfed T AR | 3

How does money solve the problem of double coincidence of wants ?

Explain with an example.

20. AT IR GER Wenfeht 9 Jveftertor it ufshan i form yeer Iif form 2 7
IETEN Tled T HIT ? 3x1=3

How has information and communication technology stimulated

globalisation process ? Explain with examples.

21.  3udigan foamei & fAuer & fou freate =l 93 form yeer wenfua feman
TR ? TE hifs | 1+1+1=3

How has a three tier quasi-judicial machinery been set up for redressal of

consumer disputes ? Explain.

22, duiferd g o FrRifa aEt | 3% for T R e s v wemafe
I ht e i | 5x1=5

AT

‘I g T ° et Wi & %o i FEha e % fore 33 ™
U 3 TR THE 3 i | I HU hi STt hHifed | 5
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Explain any five social and administrative reforms introduced by Napoleon

in the regions under his control.
Or

“The measures taken by the French to control the spread of bubonic plague

in Hanoi created a serious problem.” Explain the statement.

23.  TTEAN TohE TR AT s Hehl ¢ 3TN Higd T8 hifs | 5%1=5

How could non-cooperation become a movement ? Explain with examples.

24. WS o1 G0 FE SAEIHF & 7 WIS o GLEUT & foheel IR IUTET shl IReAT
IfT | 1+4=5

Why is conservation of minerals essential ? Explain any four measures to

conserve minerals.

25,  H o I UHh-qE Sk ek © | Uid ISTE died T I | 5x1=5
“ ‘Agriculture’ and ‘industry’ are complementary to each other.” Explain

with five examples.

26. 9T % AR 1 HE R fova & drehas Sl o T R SRR ST o |
FA1 7 T9E I | 5

How has the struggle of the Nepali people become a source of inspiration to

democrats all over the world ? Explain.
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27.  MYHH Alhditeh FeedTd fom1 UsHifa® @ ok TR SeX "eRdl !
Y I | 5

Why cannot modern democracies exist without political parties ? Explain.

28.  AvelterRter ot ket § SgUS Rl St ofireRt TE iR | 5

Explain the role of multinational corporations in the globalisation process.

29.  IUNIFAIST 1 IR H forg YR s Bar ® ¢ foedl uiw qedl gfed
T T | 5%1=5

How does exploitation of consumers take place in the market ? Explain

with any five facts.

30. (30.1) < A& A IR B WA o U MU Uik War-aHtes #§ 2ifend forg
M0 2 | 3 AL 1 Fefoiad SR o Hee 9 =TT 3R 39

e A, g W) EiE 78 w@ren ) e 2x1=2
(A) % T V&l fUarR 1920 T WA THT 0 1 3TfeasH
FoT T |

(B) I8 TIM Sl 1918 H Fcll FHIST HREM o HSIGU Fl TAWT
SIPIECACRIRRIRIE

(30.2) WA % & TeHifaw YEr-wmt § fafafad # swgw e a
qTiEy 3R 3k = forfe 3x1=3

()  Torcemé-clrer it seuTa w9
(i) PTGl o TN Hhes,
(i) TSI HE - ST gaTg TS
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(30.1) Two features A and B are marked in the political outline map of
India. Identify these features with the help of the following
information and write their correct names on the lines marked in
the map :

(A) The place where the Indian National Congress Session
was held in September 1920.
(B) The place where the cotton mill workers Satyagraha was

organised in 1918.

(30.2) On the same political outline map of India, locate and label the
following with appropriate symbols :
(1) Bhilai - iron and steel plant
(i1))  Coimbatore - cotton textile centre

(111) Raja Sansi - international airport

de: fefafed Jw Faa giedm wdenfdet & fom oy @@ 30 %
WAL : 5x1=5

(30.1) 3T TAF AT AW FATRY, & GHER 1920 H IR T i H
SfATH g3 o1 |

(30.2) T 1918 T Fcit HUST HREHI o TGl - ohl TIH T TG TRET
IERIE I

(30.3)  fuaTs e R seuTa wuE fRm TS A fem R 7
(30.4) 3T TS I 1Y FA1ST, FSrad iy gt o e fea R |

(30.5) TS e STl gas reet fohd TR H fa ® 7
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Note : The following questions are for the BLIND CANDIDATES only in lieu
of Q. No. 30. :

32/1/1

(30.1)

(30.2)

(30.3)

(30.4)

(30.5)

Name the place where the Indian National Congress Session was

held in December 1920.

At which place did the cotton mill workers start the Satyagraha in
1918 ?

In which state is Bhilai iron and steel plant located ?

Name the state where Coimbatore textile centre is located.

In which city Raja Sansi international airport is located ?

14



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14

